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QUESTION 1

Which statement about the jobs used by the Match Specification Setup Wizard is true? 

A. The jobs must be created. 

B. The jobs must be imported. 

C. The jobs exist for only One-source individual match. 

D. The jobs are created in the repository at installation time. 

Correct Answer: A 

 

QUESTION 2

When exporting a rule set to a .dsx file, what check box options should be selected? 

A. All check boxes are selected. 

B. No check boxes are selected. 

C. The Exclude Read Only items check box is selected and the Include Dependent Items check box is cleared. 

D. The Exclude Read Only items check box is cleared and that the Include Dependent Items check box is selected. 

Correct Answer: A 

 

QUESTION 3

A transaction date field has format MM-DD-YYYY. The customer wants to see how many records contain a valid month
in the transaction date field. Which mask type should be used in the Character Discrete investigation? 

A. TTXXXXXXXX 

B. CCXXXXXXXX 

C. CCTTTTTTTT 

D. TTCCCCCCCC 

Correct Answer: D 

 

QUESTION 4

What two approaches to use when determining fields to use for blocking? 

A. Investigate the combination of fields to assess block sizes. 
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B. Selecting which field to use will have little impact on the matching results. 

C. Select fields with high data frequencies even if default values are present. 

D. Each field should be investigated to determine completeness and validity. 

E. Use as few fields as possible in the blocking phase so more records are grouped. 

Correct Answer: BE 

 

QUESTION 5

Given the following input: 

Which two override options would ensure that records 1. 2, 4, and 5 would be in the same match set? 

A. Agreement weight 

B. Both missing weight 

C. Data missing weight 

D. Disagreement weight 

E. Reference missing weight 

Correct Answer: CD 

 

QUESTION 6

Which of these statements is NOT true? 

A. NLS can only process multi-byte characters. 

B. NLS supports various languages and countries. 

C. You can process Japanese data in an English version of QualityStage. 

D. When installing a non-English language version of QualityStage, NLS is enabled automatically. 

Correct Answer: B 
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QUESTION 7

When would you use the survive technique \\'Most Frequent\\'? 

A. When more than one target field is required. 

B. When the most frequent occurrence is required. 

C. When the most frequently populated value is required. 

D. When the most frequently populated value is required with two or more occurrences. 

Correct Answer: D 

 

QUESTION 8

Which match type would you use to perform a "fuzzy" match for a field containing many un- parsed words (such as a
comments field)? 

A. CNT_DIFF 

B. PRORATED 

C. MULT_EXACT 

D. MULT_UNCERT 

Correct Answer: C 

 

QUESTION 9

A complex QualityStage job is running slowly on a two CPU server. The parallel engine configuration file contains eight
nodes. 

How can performance be improved? 

A. Reduce scratch space in configuration file. 

B. Increase scratch space in configuration file. 

C. Reduce number of nodes in configuration file. 

D. Increase number of nodes in configuration file. 

Correct Answer: B 

 

QUESTION 10

If a match pass has a match cutoff weight of 10 and a clerical cutoff weight of 8. what would be the weight range for
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clerical records? 

A. 10 > Clerical Records > 8 

B. 10 > Clerical Records >= 8 

C. 10 >= Clerical Records > 8 

D. 10>= Clerical Records >= 8 

Correct Answer: D 

 

QUESTION 11

If a token had the value 13D and the "D" had to be isolated in a variable named Temp, what Pattern Action code would
be used? 

A. COPY [1] Temp 

B. COPY [1](c) Temp 

C. COPY [1](-n) Temp 

D. COPY [1](-c) Temp 

Correct Answer: A 

 

QUESTION 12

What does the default Class Label "A" on a pattern rule in SRD describe? 

A. A token that contains only letters. 

B. A token that contains only numbers. 

C. A token that contains some symbols. 

D. A token that contains some numbers. 

Correct Answer: D 

 

QUESTION 13

What four files are part of the QualityStage rule set? 

A. IPO. ITO. UCL, UTO 

B. IPD. ITO, UCL. UTO 

C. IPO. PTO. UPD. UTD 
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D. PRC. TBL. PTO. OVR 

Correct Answer: A 

 

QUESTION 14

What would happen if a special character is included in the SEPLIST and not in the STRIPLIST? 

A. That special character will be ignored. 

B. You will get an error when you test a statement. 

C. The token class for that character becomes the character itself. 

D. You need to enclose in double quotes any special characters in the SEPLIST that is not in the STRIPLIST. 

Correct Answer: C 

 

QUESTION 15

You are designing a reference match that will be run on a daily basis. Where should the reference data frequencies
typically be generated? 

A. In a Server job in the same Job Sequence. 

B. In a shared container in the same job as the match. 

C. In a different job stream and part of the daily process. 

D. In a different job stream and not part of the daily process. 

Correct Answer: B 
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